APAB S.Hogan
Ch.5 Review Sheet

Directions: The exam will consist of nine multiple-choice questions and two free-response
questions on a variety of topics. All questions will be from released AP examinations. THIS
REVIEW has 11 multiple-choice questions and 2 free-response questions (from released AP
exams). THIS IS A NON-CALCULATOR EXAM!!! You will have 48 minutes for the exam.

Questions Estimated Time
9 Multiple-Choice 18 minutes (2 minutes per question)
2 Free-Response 30 minutes (15 minutes per question)
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If f 1s the confinuous, strictly increasing function on the imnterval a < x <b as shown above, which
of the following must be true?
b
L [, f@dx<f@)b-a)
b
o | , f@adx> fa)b-a)
L I: f(x)dx = f(c)(b—a) for some number ¢ such that a<c <b
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The average value of \/; over the mmterval 0<x <2 1s
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Which of the following is equal to | =dx?
T 25 -x"
(A) arcsin%+C (B) arcsinx+C © lﬁarcsin%-é-C
D) Y25-x*+C E) W25-x'+C
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If the substitution +/x =sin y 1s made i the integrand of I v2_yx dx , the resulting integral 1s
0 Vi-x
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(D) '[0 sin” ydy (E) ZIO sin” ydy
7 The area of the region bounded by the lines x=0, x=2, and y =0 and the curve y = e’ is
(A) eT'l B) e-1 © 2(e-1) (D) 2e-1 E) 2e
8 The domain of the function defined by f(x)=In “12 - 4) 1s the set of all real numbers x such that
(A) |x|<2 (B) |x|$2 (© |x|>2 D) |x|22 (E) x is areal number
9 , ) ;
For 0<x<£, if y=(sinx)" . then @ is
2 ' ‘ dx
(A) xIn(smx) ®B) (sinx)*cotx (C©) x(sm x)x'l (cosx)
(D) (sinx)"(xcosx+sinx) (E) (sinx)"(xcotx+In(sinx))
10 4 o (x) ..
The slope of the line tangent to the graph of y = lnl. 3 at x=41s
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" If y =arctan(cosx), then ﬂ=
\ 7 dx
—sinx , a , ' .3
(A) ~ (B) —(arcsec(cosx)) sinx (C) (arcsec(cosx))
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FR A particle starts at time =0 and moves along the x-axis so that its position at any time
120 isgivenby x(r)= (1 —1)’(2r-3).
(a) Find the velocity of the particle at any time 120
(b) For what values of 7 is the velocity of the particle less than zero?
(c) Find the value of ¢ when the particle 1s moving and the acceleration 1s zero.
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FR2 A particle moves on the x-axis so that its velocity at any time 720 1s given by

v(£)=12t* =361 +15. At t=1, the particle 1s at the origin.
(a) Find the position x(r) of the particle at any time 72 0.
(b) Find all values of ¢ for which the particle 1s at rest.

(¢) Find the maximum velocity of the particle for 0 <1<2.

(d) Find the total distance traveled by the particle from =0 to r=2.




